
Sample Solutions for Chapter 1 
 
Exercise 7: Elimination of Left Recursion (2) 
 
Transform the following left-recursive grammar into an equivalent non-recursive grammar using EBNF 
iteration: 

List = List number | . 
 
Solution 

In this grammar, we must take into account that the second alternative of List is empty. The following 
strings can therefore be derived from List: 

List ⇒ ε 
List ⇒ LIst number ⇒ List number number ⇒ List number number number ⇒ ... ⇒ number number ... number 

The production can therefore be transformed into 

List = {number}. 

  




